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HINTS & SOLUTIONS

The correct sequence to form a meaningful paragraph
is DFCAEBG.

2.(4)

4.(2) 5.(4)
The verb ‘are’ should follow the noun ‘other topics’. To
which it refers. The (3) part of the sentence should be
‘know what other topics are most’.
The comparative should be uniformly used. Both
adjectives ‘smooth’ and ‘easy’ should be in same form.
‘Smoother and easier’ is the correct usage.
The article ‘the’ is necessary before ‘entertainment industry’
As we are referring to ‘the presence’ of a member, a
singular verb (agonises) should be used.
The pronoun should be used in the objective case (‘him’
here) and not in the subjective case (‘he’)

12.(1)

14.(5) 15.(2)

17.(4)
A-C are similar in meaning. Entrench means establish (an
attitude, habit, or belief) so firmly that change is very
difficult or unlikely hence superficial is the word most
opposite in meaning.

19.(2)

20.(4)

21.(1)

22.(3)

A-B are opposite in meaning. Plight means a dangerous,
difficult, or otherwise unfortunate situation hence
privilege is the word most opposite in meaning.

Mitigate means make (something bad) less severe,
serious, or painful hence Aggravate is the most opposite
in meaning.

A-D is most similar in meaning. ‘QUANDARY’ means ‘a
difficult situation; a practical dilemma’. So ‘Predicament’
is the word which is most similarin meaning to it.

B-C is most similar in meaning. ‘Subterranean’ means
‘existing, occurring, or done under the earth's surface.’.
Hence ‘Underground’ is the word which is most similar in
meaning to it.

“Consequences of the implementation of wrong and
unnecessary economic policies” is the appropriate
theme as the passage is about the economic policy
failures leading to instability in employment generation
and material insecurity to the people. Hence option (4) is
the right choice.

All the“given statements are true as they define the
meaning of the phrase as presented by the author.

As mentioned in the passage (fifth paragraph), the
design flaws in the monetary union in the Eurozone lead
to difficulties like unpayable debt burden and decline in
economy. Hence sentence (2) is the correct choice.

The author has mentioned three reasons behind the
economic “combination of outworn bad ideas,
incompetence and the malign influence of powerful
special interests”. Hence both the sentences (1) and (3)
arecorrect.

Weisbrot,has mentioned, “When the financial bleeding
was stemmed, it became glaringly evident that the
European authorities, and the ECB, could have
intervened much earlier to reduce the damage in the
eurozone .- periphery through monetary and fiscal
policies:” Hence sentence (1) is the correct choice.
Draconian means excessively harsh and severe. Hence it
has similar meaning to stringent. Innate means natural.
Inhibit means restrain.

Demure means quiet.

Vex means to confuse or to annoy.

Culpable means deserving blame. It is similar to the
meaning of liable.

Serendipity means luck.

Rife means abundant or plentiful.

Nominal means insignificant.

Inept means unqualified.

Proffered means hold out or put forward (something) to
someone for acceptance. Hence it has opposite meaning
to conceal.

Enmity means ill-will.

Rash means incautious.

Staid means serious or self-restrained.

Salient means significant.

x=-6;y=—7,-8

Therefore, x > .

x=5.92,-5.92

y=-6,-7

Therefore, x > .




Grand Test — IPP 180916

33.(5)

2x2-3x-35=0
=2x=05-35
yi-7y+6=0
=y=16
= No relation between xand y
6x2-29x+35=0
=>x=25,233
2y2-19y +35=10
—>y=7,25
=y2x
12x2-47x+40=0
=>x=267,125
4y2+3y-10=0
=y=125-2
=>y<x
Let vessel contains 100 L of mixture.
Change in water concentration will take place only due
to the quantity of water added in place of quantity of
milk taken out.

2><70

2
So, required % =190 %100 =“=x100=70%.
30 30

Total work completed by them in 10'days = 100%-41% =
59%

A and B completes 27% work in 3 days.

When they work alternatively A works:for 4 more days
and B works for 3 more days.

So, A works for total 7 days and B works for total 6 days
6 days work of both =27 x2 = 54%

Remaining 5% work is completed by A in‘'one day more

100
So A will complete work in = - =20 days.

Let marked price = M.P.
Let cost price = C.P.
and selling price = S.P.
Accordingto question
CP+SP=MP

CP+(MP—I—EOXMP)=MP

X
CP=mXMP

and SP = (MPfﬁxMP)

(MPfﬁxMP)fﬁxMP

X
WXMP
2x

100—
Profit% = — %X 100

So, Profit% = X 100

Let the cost price of a chair be Rs. x

Then, the cost price of a table
130 13«
=*%100" 10
Accordingto the question,
+ 1, 690
p _
10

10x + 13x 690
or,—————— =

10

2% _ 690
i

T 690% 10

T Rs.300

Therefore the cost price of a chair =Rs. 300
~ The cost price of a table = 690 - 300 =Rs. 390

Let the age of son be x years.

Father’s age = y years

According to the questions,

y=3x+3 ..(i)

Now, 6 years later

Son'sage=x+ 6

~ Father'sage=(y+6) =2(x+6)+ 12

=2x+12+12

or,y+6=2x+24

or,y—2x=24—6

or,y— 2x =18 ._._.(ii)

solving equation (i) and (ii), we get

=15

“y=3x+3=48

Therefore father'sage = 48

Son'sage=15

Required ratio = e
8.40+5.65 14.05 281

230°55% %100 ~ 28.5%
9.30

= 6.775 lakhs.

In the first quarter, the profit earned by traders in lakhs are
A=2115C=1945 E=194
B=1745D=2125 F=2325
Thus 2™ maximum profit is earned by trader D.
Selling = Rs.24,00,000
Therefore cost incurred to him
=2400000 — 870000 = Rs. 15,30,000

8,70,000
: e o ~ 570
-~ Profit % 530000 <100 ¥ 57%

Number of elements in each row

= H.C.F. of three categories

~ Total no. of elements in unitof king C

=H.C.F.0of 480,400 and 180

=20

So, total number of rows
480 400 180 53

“20t20 " 20

Similarly, total number of rows in unit of king D
500 450 200

= E + ﬁ =+ E =23

~ Required difference=53-23=30

Number of soldiers left

2
= 165% of (650 + 420+ 160X 4)

=285
Then, according to question,

6x+bx+(2x4)x =285

285
= =—=
¥~ 19

~ Required number of soldiers=15x 6= 90
Total soldiersof A =540+ 350+ 150 x4 =1490
Total soldiersof E=750+ 250+ 250 x4 =2000

Percentage decrease =

121.95
Average profit = —_—

510
i =— = 25.50
Required percentage 2000 x 100 = 25.5%

Required number of elephants

~250+ 2222 320,

%x (650 + 420+ 160 X 4)

Required ratio = 1
3 X (620+370+120)

1710

“1110
57

~37
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51.(2) I i
Allahabad Kanpur
73 km/hr 47 km/hr

Time taken by trains to meet each other is t.
73Xt=47Xt+ 13

26t = 13

t = 0.5 hour

Distance between Allahabad and Kanpur
=(73+47) %05

=120 x 0.5

= 60 km
4 3

v+s v—s
4pr —4s = 3v + 3s
v=17s
48 48

= 14
v+s v—s
48 48
—+—= 14
Bs ©6s
S42=14
5 5
14
s
s =1 km/hr

v =7 km/hr
R% = 7896 — 7520 »

7520

=ﬁx100=ix100=5%
7520 20

56238 =P 14— |14+ (Hi
100 " 100 L 100

103 104 105

56238 =PX—X—X—
100 100 100

100 100 100

=56238X —X—X—
103 104 105

= 14

100

P =500
Effective increase in price

3045+ _35.1.5-36.5%
100

The series is
13x1+1x7=20,
20x2+2x6=52,
52x3+3x5=171,
171%x4+4x4=700
700x5+5x3=3515,...
The series is
37+24=61,
61+26=87,

87 +30=117,
117 +32=149,
149 +36=185...
The series is
x1-2,

x2-3,

x3 -4,

x4 -5

x5-6,....

ie.

Tx1-2=5,
5x2-3=7,
Tx3-4=17,
17x4-5=63,
63x5-6=309,..

The series is
+3,+5,+9,+15,+23

Le.
11 14 19 28 43 66

I | I ) | I |
3

: 5 9 15 23
N S N | O |
2 4 6 8

The seriesis x9-15,x8 -14, x7-13, x6-12, ...
ie.
12x9-15=93
93x8-14=730
730x7-13=5097
5097 x6-12=30570
30570x5-11=152839

35%0f 1579 + 29% of 4516 = 7 x 41 + 468 + 773.98-199.53
7% 40 4+ 470 + 770 - 200 ~ Shix 1600+ 0% 4500

ol ol E T 100

or, 7X 40 + 1240 — 200 ~ 560 + 1350 = 1910

or,?7x 40 =~ 1910— 1040 = 870

2820 2175~ 20
== 2175 R

(36+7)x9=49.05x%x19.95-24.99x14,12
or,324+9x?=50x20-25x14
or,9x?~1000-350-324=326
326
oy E T = 36
- 57x394 2.5x996
T 100 100
~ 22458 — 25 =19958~ 200
7=96.996 x 9.669 + 0.96
97 x97+1x941+1=942=940
?=26x38-309
=988-309=679=680
67.(4)
69.(5) 70.(3)
From the condition, O sits 3rd from the extreme end of
the row whose rank is a perfect square, hence O can sit
either 3rd.from left or 3rd from right end of the row and
his rank is:784, because this is the only number which is
perfect.square.
Q.faces south. M sits immediate left of O, and M rank is
3 digit Armstrong number which is divisible by 7, there is
2 Armstrong number 371 and 153, only 371 is divisible
by 7 it means M’s rank is 371. (An Armstrong number
of three digits is an integer such that the sum of the
cubes of its digits is equal to the number itself.) B’s rank
is an Armstrong number, only 1 Armstrong number (153)
is remaining, means B’s rank is 153. K sits 4 left of M. N
rank is 5 times of 157, hence N rank is 785. From above

conditions we will get 2 possible conditions-
Case- 1

olmj M(371)
|

[

Kl | o(784) M(371)

| l

R

N sits 3rd right of M. P and M are the immediate
neighbours of A, from this condition case 2 will be
eliminated. Only case -1 will be continued.
From the rest conditions, L sits right of M. A’s rank is 1.6
times of N’s rank, it means A’s rank is 1256). K’s rank is
average of L and A’s rank, there is only one possibility
that L’s rank is 474 and K’s rank is 865. P sits 5th place
away from the N, so N faces north direction and P’s rank
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will be fixed that is 302. M and P are immediate
neighbors of A. B position will be fixed. P faces south

direction. We will get final answer.
L(474)  O(784) M(371) M/f\2561 P(302) 34\153) K(865)

I
| v oo A
72.3)

74.(4) 75.(1)
Sonu

Tula
77.(1)
79.(3) 80.(4)
It is given that | does not live on first floor and there are
three persons live between F and | so there can be two
possibilities. It is given that the person who lives on"7th
floor likes Dove deodorant.
Case-1 Case-2
Person Deodorant Floor Person Deodorant

Dove F Dove

It is given that there is only one person lives between the
floor of F and the one who likes secret temptation
deodorant. There are only two floors between the floor
of K and the floor on which the person who likes secret
temptation deodorant lives. The one who likes Nivea deo
lives on one of the even-numbered floors above the one
who likes Secret temptation deo: E lives immediately
above J and does not like Secret temptation deodorant.
K does not like Dove deodorant. The one who likes Jovan
deo lives on one the odd-numbered floors below J. The
one who likes Nike deodorant lives immediately above
K.K does not like Jovan deodorant .
Case-1 Case-2
Person Deodorant Floor Person Deodorant
Dove 7 F Dove
Nivea 6 E Nivea
5 ] Secret

Secret temptation

temptation

Jovan Nike
1 Nike

K Jovan

It is given that only one person lives between the one
who likes Spinz deodorant and the one who likes Eva
deodorant, so Case-1 will be eliminated. H lives on one
of the floors above G. H does not like Spinz deodorant so
the final arrangement is-

4. MACEKE

Dove

Nivea

Secret
temptation

Eva
Nike
Spinz

Building E is 0.6 km away from building A; it can be in
any direction (north, south, east, and west) from A. But
in any case building E will always in North-West direction
with respect to building C. We can’t determine the
distance between building D to A because in the
question E’s direction is not given from any point.
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A

|
10.5km
1

75km 1

B

95.(1) 14% +6% =258 m

Word Code
Information Co
Enterprises So
Planning Qo
Resource Go
Gujarat No
Models To
Providing Lo
Business Jo
In Vo
The/of Do/ro
Execution/system | Ko/wo
97.(3)
99.(3) 100+(3)




